
MATHS

BOOKS - MAXIMUM PUBLICATION

MODEL PAPER 18

Example

1. Consider the Venn diagram given below: 

Write  
A' , B' , (A⋂B)'

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ycfmnk31twPj


.

Watch Video Solution

2. For any triangle ABC, prove that

Watch Video Solution

sin( ) = cos( )
B − C

2
b − c

a

A

2

https://dl.doubtnut.com/l/_ycfmnk31twPj
https://dl.doubtnut.com/l/_QzxfLHLNV3n6


3. Consider the complex number . Write

the conjugate of z.

Watch Video Solution

z = 3 + 4i

4. Consider the complex number .Verify

that 

Watch Video Solution

z = 3 + 4i

zz̄ = |z|2

5. Solve the inequality .

Watch Video Solution

−5 ≤ ( ) ≤ 8
5 − 3x

2

https://dl.doubtnut.com/l/_6BbdNcq7Bjva
https://dl.doubtnut.com/l/_u0CBFX4tSBDx
https://dl.doubtnut.com/l/_mrEgPIUSGAbq


6. .Represent the solution on a

number line.

Watch Video Solution

−5 ≤ ( ) ≤ 8
5 − 3x

2

7. 4 cards are drawn from a well shuffled pack of 52

cards.In how many ways can this be done?

Watch Video Solution

8. 4 cards are drawn from a well shuffled pack of 52

cards. In how many ways can this be done if all 4

cards are of the same colour?

https://dl.doubtnut.com/l/_wF9oOw8N3IAh
https://dl.doubtnut.com/l/_opCut7K7X28Y
https://dl.doubtnut.com/l/_NxapmT8pDKab


Watch Video Solution

9. Consider the equation of the ellipse

. Find focci.

Watch Video Solution

9x2 + 4y2 = 36

10. Consider the equation of the ellipse

. Find Eccentricity.

Watch Video Solution

9x2 + 4y2 = 36

https://dl.doubtnut.com/l/_NxapmT8pDKab
https://dl.doubtnut.com/l/_GY4tqrHrJHAE
https://dl.doubtnut.com/l/_14f1kNrj0EFs


11. Consider the equation of the ellipse

. find Length of latus rectum.

Watch Video Solution

9x2 + 4y2 = 36

12. Evaluate .

Watch Video Solution

lim
x → − 4

2x + 8

x2 + x − 12

13. Consider the statement

.Show that P(1) is true.

Watch Video Solution

P (n) : + + + .... . + =
1

1.2

1

2.3

1

3.4

1

n(n + 1)

n

n + 1

https://dl.doubtnut.com/l/_O6w2jVzkjJ7p
https://dl.doubtnut.com/l/_LeCxnjKo909Z
https://dl.doubtnut.com/l/_HY3o6YCNy7Hd


Watch Video Solution

14. Consider the statement

.Prove that P(n) is true for all  using the

principle of mathematical induction.

Watch Video Solution

P (n) : + + + .... . + =
1

1.2
1

2.3

1

3.4

1

n(n + 1)

n

n + 1

n ∈ N

15. Consider the complex number . Write

z in the form 

Watch Video Solution

z =
1 + 3i

1 − 2i

a + ib

https://dl.doubtnut.com/l/_HY3o6YCNy7Hd
https://dl.doubtnut.com/l/_hn7IaaKvayCc
https://dl.doubtnut.com/l/_E1nLePOiHHEk
https://dl.doubtnut.com/l/_LZVy4nI7fGM1


16. Consider the complex number .Write z

in polar form.

Watch Video Solution

z =
1 + 3i

1 − 2i

17. Solve the following inequalities graphically 

, , ,

Watch Video Solution

x − 2y ≤ 3 3x + 4y ≥ 12 x ≥ 0 y ≥ 1

18. How many 3 letter words with or without meaning

can be formed using 26 letters in English alphabet, if

no letter is repeated?

W t h Vid S l ti

https://dl.doubtnut.com/l/_LZVy4nI7fGM1
https://dl.doubtnut.com/l/_xMW1ZJxaY6uN
https://dl.doubtnut.com/l/_3TJlpWJ4GDMd


Watch Video Solution

19. Find the number of permutation of letters of the

word MATHEMATICS.

Watch Video Solution

20. Consider the given below.  and B(0,2)` are

two points on axes. The line is perpendicular to AB. 

A(3, 0)

https://dl.doubtnut.com/l/_3TJlpWJ4GDMd
https://dl.doubtnut.com/l/_6NwMy4UCKo5M
https://dl.doubtnut.com/l/_AwbgNbtgUWgl


Find the coordinate of the point P. 

.

Watch Video Solution

21. Equation of the parabola given in the figure is

 

Find the focus and length of latus rectum of the

y2 = 8x

https://dl.doubtnut.com/l/_AwbgNbtgUWgl
https://dl.doubtnut.com/l/_QkyFPpnKJwn8


parabola. 

.

Watch Video Solution

22. Let L be the line .Find the

equation of the  which is parallel to L and passing

through (1,-2).

Watch Video Solution

x − 2y + 3 = 0

L1

https://dl.doubtnut.com/l/_QkyFPpnKJwn8
https://dl.doubtnut.com/l/_Ws5g6T1riCYA


23. Let L be the line .The equation of

line  is parallel to L and passing through (1,-2).Find

the distance between L and .

Watch Video Solution

x − 2y + 3 = 0

L1

L1

24. Consider a point A (3,2,-1) in space.Write the

octant in which A belongs to.

Watch Video Solution

https://dl.doubtnut.com/l/_Ws5g6T1riCYA
https://dl.doubtnut.com/l/_5mUlW26b1It5
https://dl.doubtnut.com/l/_wXxMCI5vbAxz


25. Consider a point A (3,2,-1) in space.If B (1,2,3) is

another point in space, find the distance between A

and B.

Watch Video Solution

26. Write the contrapositive of the statement.p: If a

triangle is equilateral, then it is isosceles.

Watch Video Solution

27. Verify by method of contradiction: 

'  is irrational.√3

https://dl.doubtnut.com/l/_3zsYkNHcTuiU
https://dl.doubtnut.com/l/_IQ0GSQWHxM1T
https://dl.doubtnut.com/l/_6f0xeuUwBhDG


Watch Video Solution

28. If  write .

Watch Video Solution

A = {a, b} A × A × A

29. If  is a prime number less than

10}. Write R in roster form.

Watch Video Solution

R = {(x, x3) : x

30. Find the domain and range of the real function

f(x) = 2 + √x − 1

https://dl.doubtnut.com/l/_6f0xeuUwBhDG
https://dl.doubtnut.com/l/_48M3uMaomV1G
https://dl.doubtnut.com/l/_3jEJDJmk3eAI
https://dl.doubtnut.com/l/_zPSQXuN3Jyj0


Watch Video Solution

31. The minute hand of a watch is 3cm long. How far

does its tip move in 40 minutes?(use )

Watch Video Solution

π = 3.14

32. Solve 

Watch Video Solution

sin 2x − sin 4x + sin 6x = 0

33. Find the sum of all 3 digit numbers which are

multiple of 5.

https://dl.doubtnut.com/l/_zPSQXuN3Jyj0
https://dl.doubtnut.com/l/_gfNoTPaDHp0u
https://dl.doubtnut.com/l/_b50KGFQjy64f
https://dl.doubtnut.com/l/_FDj1ck5ppBzg


Watch Video Solution

34. How many terms of GP ..... are needed to

give the sum 120?

Watch Video Solution

3, 32, 33,

35. Find the sum of the first n terms of the series

whose nth term is .

Watch Video Solution

n(n + 3)

https://dl.doubtnut.com/l/_FDj1ck5ppBzg
https://dl.doubtnut.com/l/_tQ4yGYLzPmoB
https://dl.doubtnut.com/l/_qIoVkANX8SY2


36. Expand using binomial theorem, .

Watch Video Solution

( + )
5

x

3

1

x

37. Find .

Watch Video Solution

(a + b)
4

− (a − b)
4

38. evaluate 

Watch Video Solution

(√3 + √2)
4

− (√3 − √2)
4

https://dl.doubtnut.com/l/_DeyVIVYhcgew
https://dl.doubtnut.com/l/_YXbqHtjXnXVv
https://dl.doubtnut.com/l/_8zSV5fjsOLSy
https://dl.doubtnut.com/l/_w3SVx4hI3PyO


39. Find the derivative of  from the first

principle.

Watch Video Solution

y =
1

x

40. Differentiate  with respect to x.

Watch Video Solution

f(x) =
cos x

1 + sin x

41. Calculate the mean deviation about median for

the following data: 

.

https://dl.doubtnut.com/l/_w3SVx4hI3PyO
https://dl.doubtnut.com/l/_1LPZEMXZDR5K
https://dl.doubtnut.com/l/_yLsuxNis1qAv


Watch Video Solution

42. Consider a bag containing 3 red balls and 2 black

balls which are identical. 2 balls are drawn

simultaneously at random from the bag.Write the

sample space of the random experiment.

Watch Video Solution

43. Consider a bag containing 3 red balls and 2 black

balls which are identical. 2 balls are drawn

simultaneously at random from the bag. 

Write the event. 

https://dl.doubtnut.com/l/_yLsuxNis1qAv
https://dl.doubtnut.com/l/_a9lokC7ucbY3
https://dl.doubtnut.com/l/_WXbZaLS1pYiU


A : Both balls are red. 

B : One is red and one is black.

Watch Video Solution

44. Consider a bag containing 3 red balls and 2 black

balls which are identical. 2 balls are drawn

simultaneously at random from the bag.


A: Both the balls are red 

B: One ball is red and another one is black


Show that A and B are mutually exclusive.

Watch Video Solution

https://dl.doubtnut.com/l/_WXbZaLS1pYiU
https://dl.doubtnut.com/l/_5iW46Qx3RdmV

